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1) What are the two opinions as to when it is 10K to do 7ox%» on 1o 273?

2) In the question of the & n3, what is the meaning of ™8, and explain why?

3) What is the question based on this &n>12?

4) According to the answer of the x7»3, what did "ax1 mean when he said that it is mox to do

7oRDn from "R nyw"?

5) What did >"axn ask on the opinion of >"1?

6) Explain the question of the X% on the answer (that = refers to anwn 7ny), based on this

response?

7) How does >"axn (X171 27) answer this question?

8) What is his proof that the a»5r divide between the night and the day?

9) What was the original answer of "1 to the claim of >"ax2?

10) This seems to be a good response. According to *"axn, why can’t *"3 bring a proof from ynn

that we can divide the daylight hours?

11) How does "1 explain why yn»r is a good proof that we divide the daylight hours?

12) What is the response of *"ax" to this?




13) Why does the 770 divide the day (and make it 7nn to do something part of the day, and mox

part of the day) but not the 7127 (*"wn)?
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